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Dear Mark,

Thank you for our discussionsover the last few weeks. | appreciate your commentson my letter to President
Clinton, dated January 10, 2001, just before heleft office. Wdll, it hasbeen almost 4 yearssince that writing.
Certainly, a lot has changed in that time. In reviewing the last 4 years, | am reminded of the following
Shakespeare quote: “ The saddest words of tongue or pen are those words that say what might have been” .

Asamember of the Concord Coalition, which believesin fiscal discipline, | am obvioudy very disappointed in
the tax and economic policies of thisadministration. | will address my concernsin thisletter, by contrasting
where we left off with President Clinton and the wrong direction that we are now heading. To begin our
discussion, we should review some terms. Politicians will most often use the term Unified Budget when
gpeaking about the budget. Thisismideading because the Unified Budget includesthe social security surplus,
making the budget numbers appear better than they actually are. On-Budget refers to the net effect of
government revenues minus expenses without taking into account the current social security surplus. In other
words, if the social security revenues were set-asde, this would show how the government is actually
operating. The Off-Budget amount is basically the Social Security (and Medicare) surplus.

Now, let’sfirg revidt the 8 fiscal budget years under President Clinton, which he controlled.

In Billions $ 1993 1994 1995 1996 1997 1998 1999 2000
On-Budget -3004 | -2589| -2264| -1741| -103.3 -30.0 +19| +86.6
Off-Budget

(Social Security Surplus) +46.8| +56.8| +604| +664 | +813| +99.0| +124.7| +151.8
Total Unified Budget:

+Surplus-Deficit -2536| -202.1| -166.0| -107.7 -22.0| +69.0|+126.0 | +238.4

Fiscal Y ear ends September 30 Source: Congressional Budget Office (CBO)

Clinton inherited afinancially insolvent government foll owing the severerecessonin 1992. Clinton passed a
major economic package in 1993 (“OBRA-93"). It contained significant tax increases and budget cuts.
Needlessto say, it was not avery popular tax act. But Clinton claimed that OBRA-93 was needed to reduce
the deficits and save the government from financial bankruptcy. As you can see, fiscal year 1993 had a
Unified Budget deficit of $253.6 billion dollars. However, by the end of Clinton’s second term, the Unified
Budget had a surplus of $238.4 billion dollarsin 2000. That’s a swing of $492 billion dollars



Bush Adminigtration
Economic Impact of Tax Policies
Page Two

Moreimportantly, the On-Budget deficits weredeclining from 1993 thru 1999. We actually experienced On-
Budget surpluses of $1.9 and $86.6 hillion dollarsfor fiscal years 1999 and 2000, respectively. That means
that the government was able to generate revenues and pay expenses without dipping into the Social Security
aurplus. Every number in the above table showsimprovement over the 8 year period under President Clinton.
It should be noted that the previous President George Bush had projected a budget deficit of $455 hillion
dollarsfor fiscal year 2000, but instead we experienced a $238 billion dollar surplus. That’saswing of $693
billion dollars.

Now, let’stake alook at the current Bush Administration. First, | will list the actual fiscal record for years
2001 thru 2004 that are completed, as well as the projected fiscal budget for years 2005 thru 2008 as
provided by the Congressional Budget Office (CBO).

Source: CBO Actual Fiscal Y ears Completed Projected Fiscal Year Budgets
In Billions $ 2001] 2002] 2003] 2004| 2005] 2006] 2007] 2008
On-Budget 333 | -316.8| -5360 | -5740| -537.0| -466.0 | -4820| -510.0
g&?;l‘dsg;tumy Surpius +160.7 | +159.0 | +161.0 | +152.0 | +174.0 | +193.0 | +208.0 | +224.0
f&fr'sldug‘fggfeit&t +127.4| -157.8| -375.0| -422.0| -3630| -273.0| -274.0| -286.0

Fiscal Y ear ends September 30th

George W. Bush inherited a financially solvent government when he took office on January 20, 2001. The
projected unified budget surplus for fiscal year 2001 was to be around $313 billion dollars. The CBO had
projected a 10 year budget surplus of $5.6 trillion dollarsover a 10 year period. Many economists projected
that the national debt could be paid off by 2012.

Therewas amild recesson that started in the spring of 2001, but thisended by early 2002. Asa stimulusto
the economy, Congress paid out $41 billion as tax rebates. This was an acceleration of the lower 10% tax
bracket, $300 for singlesand $600 for married couples, even higher income bracketsreceived thisrebate. The
fiscal year ending September 30, 2001 ill showed a surplus of $127.4 billion dollars.

Then, we had thetragic events of September 11, 2001. Congressreacted by passing emergency fundinginthe
amount of $80 billion dollars ($40 billion for direct emergency recovery, $15 billion for the airline bail-out
and $25 hillion for increased costs associated with homeland security). These temporary measures appeared
to be necessary and these costs were appropriated out of thefiscal 2002 budget. We see that thereisa budget
deficit of $157.8 hillion for fiscal year 2002. This represents a change of $284 billion from the prior fiscal

year. Even if we takeinto consideration the extraordinary spending for 9/11 of $80 billion, aswell as other
increased homeland security costs, we still need to acknowledge a$200 billion dollar shortfall. Some of thisis
due to other increased spending and some of thisis due to less tax revenues received.

But the Bush Adminigtration continued to push for more tax cutsin 2002, 2003 and 2004. These tax cuts
were suppose to stimulate the economy and createjobs. They claimed that thiswould result in overall growth
and thereby result in moretax revenues so that we could “grow out” of the deficits and pay down the national
debt. But let’stake alook at the hard facts.
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For fiscal years 2003 and 2004 we saw the On-budget deficits grow to $536 billion and $574 billion,
respectively. These huge budget deficits were offset by using the Social Security surplus, resulting in a net
Unified Budget deficit for these two years of $375 billion and $422 billion. The CBO projects more deficits
for years 2005 thru 2008. If these above projections are true, combined with the actual figuresfor fiscal years
2001 thru 2004, thetotal budget deficit under George W. Bush (assuming heisre-eected) would bejust over
$2 trillion dollars and the National Debt would grow to almost $10 trillion dollars. The above figures do not
include the additional costs associated with making the proposed tax cuts permanent.

The Bush Administration claimsthat the reasons for these deficits are primarily the recesson, 9/11 attacks
and the war on terror (specifically the war in Iraq and Afghanistan). But let’slook at these claims carefully.
The recession that Bush refers to took place more than 3 years ago now. It was a mild recession by all

measures, certainly not assevere asthe 1992 recesson or the 1982 recession. The9/11 attacks disrupted the
economy, but those attackswere also 3 years ago and the $80 billion dollars of direct costs have already been
accounted for in the 2002 fiscal budget. Asfar asthe war on terror isconcerned, approximately $140 billion
dollars have been spent thus far. This amount does not justify the added $1.652 trillion in debt, to date.
Furthermore, the future costs associated with the war in Iraq and Afghanistan are not included in the above
projections for fiscal years 2005 thru 2008. These additional war costs are requested thru a supplemental

budget which is separate and apart from the CBO figures. In other words, if we assume that another $80
billion dollarsis requested for each year, from 2005 thru 2008, this amounts to $320 billion to add to our
projected $2 trillion dollars of deficits and the projected $10 trillion dollar National Debt.

The tax cuts have not produced more jobs as claimed. In fact, George W. Bush will be the first president
since Herbert Hoover to have a net loss of job growth in a4 year term (currently estimated to be 800,000).

The stock market has not grown as anticipated. The market has been hovering between 10000 and 10500
snce George W. Bush hastaken office. Contrast that performance with the Clinton Adminigtration, wherethe
stock market wasat 3500 in 1993, reached ashigh as 11600, then went back down to around 10250 whereit
has remained relatively stagnant for the last 4 years. The economic outlook on Wall Street isuncertain. The
tax cuts have not produced theeconomic stimulus as promised. We are not going to “grow out” of the deficit
problem as pledged. To the contrary, moreincreased deficitsare on the horizon. These deficitsare large and
gructural in nature. They will not decline until drastic action is taken to reverse thistide.

National Debt Components & Interest Expense Obligations

But the deficits al so contribute to greater problems, the ever increasing National Debt and the pending Social
Security insolvency. These two issues are in many ways “joined at the hip” since each are interdependent
upon the other. Both issuesare central to the government’ sability to befiscally responsble and to strivefor a
balanced budget.

The National Debt is comprised of two components, Intragovernmental Debt and the Debt Held by the
Public. Thelntragovernmental Debt isthe Social Security & Medicaresurpluses, aswell asother government
retirement obligations. Itisthisobligation, or |OU, that the government records when taking these surpluses
to use for spending in the general governmental fund.
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Therefore, it isatrue statement that the Social Security surplusisbeing used to supplement the expenditures
of the government, which includes discretionary spending (military and non-military). The Social Security
aurplus thereby also serves to supplement the budget shortfalls brought about by the tax cuts.

The Debt Held by the Public are actual debt obligations owed by the United States to holders of Treasury
Bills, Notes and Bonds. This amount is important because the United States pays interest on these debt
obligations. As the Debt Held by the Public increases, so does our interest expense (“Net Interest”). This
expenditure was $155 billion dollarsin 2004 and represents around 7% of our budget. The following Table
summarizes the growth in the two components of the National Debt.

Source: CBO [in Billions of Dallars)

Fiscal Year | Intragovernmental Debt Held Total US

Sept 30th Debt by the Public | National Debt
1993 1,163 3,248 4411
2001 2,468 3,339 5,807
2002 2,675 3,553 6,228
2003 2,859 3,924 6,783
2004 3,066 4,393 7,459
2005* 3,326 4771 8,097
2006* 3,626 5,055 8,681
2007* 3,940 5,338 9,278
2008* 4,270 5,630 9,900

* Projected

Please note that during the Clinton years, from 1993 thru 2001, the total National Debt did grow by $1.4
trillion. However, hisDebt Held by the Public started at $3.2 trillion, grew to $3.8 trillion, but wasthen paid
back down to around $3.2 trillion (January, 2001). Thisisbecause Clinton took the Social Security surpluses
of almogt $600 hillion to pay down the Debt Held by the Public during the last 3 yearsthat he wasin office.
Thiswas a wise use of the Social Security surplus, which served to extend the solvency of that program.

By fiscal year 2004, the Bush Administration had managed to increase the total National Debt by $1.652
trillion dollars and more importantly, increase the Debt Held by the Public by more than $1 trillion dollars
(from $3.339 trillion to $4.393 trillion). If we continue on the present course, the Debt Held by the Public will
grow to at least $5.630 trillion dollars by 2008. The interest expense on the Debt Held by the Public will
grow to $279 billion dollars in that year and will represent around 10% of the expenditures. Thisis a
conservative estimate; it isbdieved that theinterest rate on thisdebt will haveto beraised in order to attract
investors. Some experts believe that this number could rise to 15% to 20% of our budget. That means for
every $5 of revenue, $1 dollar will be paid out to just cover the interest on the Debt Held by the Public.

We often speak of the need to become energy independent. Given thefact that around 50% of the Debt Held
by the Public isowned by foreign countries, it isin our best interest to return to a balance budget. How can
we be effective in our foreign policy, if much of our debt isheld by countriesthat may have opposing views?
We can not maintain any leverage in our negotiationsif those same countriesare also our chief creditors. So,
it not only makesgood economic senseto return to fiscal discipline, but the rewards of abalance budget can
also enhance our foreign policy objectives.
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We know from our own personal financesthat too much debt can stranglegrowth in our economic outl ook.
We are not positioning ourselves to properly deal with the pending Social Security problem. We need to
return to balance budgets and even surplusesif we hopeto addressthe retirement of the “baby boomers’ and
to restructure the Social Security program so that it is solvent for future generations.

Social Security Insolvency

At thetimethat the Social Security program was enacted in 1935 there were approximately 40 workers per
beneficiary and the life expectancy wasonly 62 yearsold. Life expectanciesrose so that by 1960 that number
had dwindled down to 5 workers per beneficiary. Today, we are at around 3 workers per beneficiary, with
that number dwindling down to only 2 workers per beneficiary by 2030. Another reason for thedeclineinthe
worker to beneficiary ratio, isdueto the huge population boom from 1946 to 1964, commonly referred to as
the “Baby Boomer” generation. Following thiswave of baby boomers are familiesthat have decided to have
fewer children per household. Asaresult of these demographic trends and as the baby boomerslive longer,
there are less supporting workers per retiree. The oldest of the baby boomerswill begin to retire in 2008.

By 1983 Congress, along with Alan Greenspan and others, saw thisimpending crissand developed aplanto
meet the economic challenges of the Social Security program. Congress then enacted measuresto increase
the rate aswell asthe wage base from which employees pay their Social Security Taxes(referred to asFICA
tax). Employers match, dollar-for-dollar, each dollar of FICA (and Medicare tax) that an employee has
deducted from their payroll check. The following table outlines this tax increase:

Calendar Social Security Social Security
Y ear (FICA) Wage Base | (FICA) Tax Rate
1937 - 49 $3,000 1.00%

1960 4,800 3.00
1970 7,800 4.20
1975 14,100 4.95
1980 25,900 5.08
1983 35,700 5.40
1985 39,600 5.70
1990 51,300 6.20
1995 61,200 6.20
2000 76,200 6.20
2001 80,400 6.20
2002 84,900 6.20
2003 87,000 6.20
2004 87,900 6.20

The dramatic increases in the wage base have produced Social Security surpluses (see earlier table). These
extrafundswere designed to be availableto restructure the Social Security program. Thereforethe question
that every working taxpayer and employer should ask, “isthe Social Security Surplusbeing used to makethe
program solvent for us and future generations?” Unfortunately, the answer is a resounding NO.
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Government hastaken these surplusesand replaced them with 10U’ s, so that these funds can be commingled
inthe general operating fund. ThelOU’ sinthe Social Security Trust Fund are unfunded. In the current Socia

Security Trust Fund, we have what is known as a “pay-as-you-go” system. This system only works when
thereismore money coming in each month, than isbeing paid out at the end of the month. There are no real

assetsin placeto back up the government’ sability to pay. The Social Security Program iscurrently running a
aurplus, but this surplus will dwindle down to zero by 2018, then the system will go negative. Economists
calculate the present value of unfunded Social Security liabilitiesto bearound $12 trillion dollars. Thelonger
we walit to correct this problem, the more drastic the measures to be taken.

Clinton used the Social Security surplusto pay down the Debt Held by the Public, by almost $600 hillion
dollars. He also proposed that 62% of each surplusdollar continueto be used to pay down the debt in order
to extend the sol vency of the program. Hisultimate goal wasto “carve-out” part of the Social Security funds
to beinvested in the private sector. He called this program, Universal Savings Accounts, or “USA” accounts
asoutlined in his 1998 State of the Union Address. Thiswould partially privatize Social Security, but at the
aggregate, or entity level. This fund is similar to a large mutual fund with citizens retaining a percent
ownership so that they could enjoy a better return on their retirement investment in the private sector.
However, aportion of their Social Security fundswould remain asinsuranceincaseof disability. The purpose
of this carve-out wasto make it impossible for congressto spend this money as part of its general revenues
and expenditures. Thiswas Smilar to the “lock-box” idea for which Al Gore was heavily ridicul ed.

George W. Bush has spoken about “ownership” of your retirement accounts. | agree. But there should be
only partial privatization, so that workers are not subject solely to the stock market as a means of securing
their retirement. The problem with Bush is that his huge tax cuts, the war in Iraq and other spending
increases, have created huge deficits. He is currently absorbing the Social Security surplus as part of these
huge deficits. He has not paid down any debt, to the contrary, theNational Debt hasincreased at afagter pace
than our Gross Domestic Product over the last 4 years, adding $1.6 trillion dollars and counting.

Thecurrent administration isnot ableto restructure Social Security without adding more debt, cutting current
benefits, raising taxes on workersand their employers, or some combination of all of theabove. Thisstuation
is unacceptable, given that workers paid in more FICA taxes during the 1980’ s, 1990’ s and now, providing
extra funds for the designated purpose of solving the Social Security problem.

All we needed was another 4 to 8 years of the Clinton policiesfor thisstuation to be much more manageable.
We were actually producing On-budget surplusesin the late 1990’ s, meaning that the Social Security funds
could be left alone. Further tax cuts could have been paid for from the On-budget surpluses. We need to
return to the Graham-Rudman Act of the mid-1980’s, where no new spending or tax cuts can be allowed
without showing the means by which to pay for them, keeping a balanced budget in the process.

It isimportant to emphasize that the 9/11 attacks and the War on Terror isNOT the reason why we arein
thiscircumstance. Theimpact and rel ated costs associ ated with these two eventshave already been accounted
for in the fiscal budgets mentioned earlier. Then, what is the motivation for the Bush policies?
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A Short History of Tax Policies Since 1980

Theideaof tax cutsto stimulate the economy was a popul ar theme of the Reagan Adminigration. Thetax act
of 1981 (“TEFRA") lowered the top marginal tax rate to 28% which was a twenty five percent reduction.
Thistoo, wasto promote growth and create jobs, no need to worry about any deficits because thejob growth
and related increase in tax revenues would more than pay for the tax cuts. Clearly, thiswas not the case. We
had a severe recession in 1982. The deficits began to increase. Even the Reagan Administration quietly
permitted 13 “revenue enhancements’ in an effort to stop the bleeding. The most famous, or infamous, tax act
during the Reagan yearswasthe Tax Reform Act of 1986 (“TRA-86") which contained major tax increases,
such as; 1) phase-out of the exemption and standard deduction amountsfor higher income brackets, 2) phase-
out of itemized deductions based upon the adjusted gross income (AGl), 3) to tax up to 50% of social
security benefits depending upon your AGlI, 4) taxing capital gainsat aflat 28%, you were no longer ableto
exclude up to 60% of the gain from direct tax, 5) taxing Unemployment Compensation, 6) and most
ggnificant, the Passive Activity LossRules. | had some wealthy tax clientswith bascally the sasmetype of redl
estate income that paid moretax in thelast years of the Reagan Administration than they did in the last years
of the Carter Administration. But the economic damage had already been done.

When Jimmy Carter |€eft officein 1981 the National Debt wasjust under $1 trillion dollars. By the time that
Ronald Reagan left office in 1989 the National Debt was around $2.7 trillion dollars. Then along came
George Bush, Sr. and the deficits continued to climb. He stated emphatically that he would not raise taxes,
“read my lips, no new taxes’ he said at the 1988 Republican Convention. But no meaningful effort was made
to balance the budget, so the increased spending and deficits continued to rise. Finally, even George Bush, Sr.
realized that something had to be done, so in the budget act of 1990 (OBRA -90) he raised the top marginal
ratefrom 28% to 31%. Unfortunately, it wastoo littletoo late. Hisown party crucified him for raising taxes.
By the time he | eft office we experienced another deep recession in 1992. The National Debt rose to $4.2
trillion dollars.

Then, along came Bill Clinton. His efforts, along with Alan Greenspan, Robert Rubin, Lawrence Summers
and Demoacratic members of Congress were determined to set the government on the path of a balanced
budget. The budget act of 1993 (OBRA-93), passed by 1 vote in the Senate and 2 votesin the House. No
Republican voted for this bill. It included raisng the top marginal tax rates (from 31% to 36% and up to
39.6%) aswdll asto cut spending of around $150 billion dollars. It was based upon the smple concept that a
balanced budget would not need to draw private sector dollarsto fund public debt, but instead these private
sector dollarswould be allowed to grow in the private sector, to be used to expand inventories and capital
equipment investments needed by businesses. Wall Street reacted in the positive, hearing that the government
was finally “getting its financial house in order”. The economic outlook could now be optimigtic, knowing
that the huge deficits may finally disappear — and they did. It worked. This proved that the best thing that
government can do for business, isto achieve and maintain a balanced budget. The question asto what isan
acceptablelevel of operation for government isdebatabl e, should there bemore or less government, moreor
less spending, more or lesstaxes. Thisis an issue that we hope our el ected leaders can reasonably resolve.
But whatever the level of operation that may be determined, clearly a balanced budget without dipping into
Social Security, must be the ultimate goal.

Please refer to my earlier “thank you” letter to President Clinton for more details.
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Transfer of Wealth and the Middle Class Tax Burden

The Bush Adminigration has pushed thru Congressa major tax act in each of thelast 4 years. They daim that
these are“acrossthe board” tax cuts. However, more than 50% of the tax benefit is skewed more heavily to
the top 1% income bracket. Let’ stake a closer look at some of the other tax breaks.

Eliminate the Estate Tax: Under current law, the Estate Tax or “Death Tax” will be phased-out and
eliminated by 2010. Thistax only affectslessthan 2% of all taxpayers. The government will lose around $300
billion dollars of revenues as a result of thistax break. Instead of merely raising the Unified Credit from $1
million to around $5 million to offset more of the net estate value, the Republicans are gtriving to eiminate
thistax altogether. Thisisnot of any tax benefit to the middle class taxpayer, since they are not affected by
thistax break. Thisisclearly atax break for the very wealthy.

15% Flat Tax on Long Term Capital Gains: Thistax break was obvioudy designed as a tax break for
wealthy investors. Instead of permitting a lower tax rate on capital assets held for more than 5 years, they
gave an overall lower tax break on all long term capital gains.

15% Flat Tax on Domestic Dividend | ncome: Here again isanother obvioustax break for the wesalthy. All
qualified domestic dividend income is now taxed at 15%. | have wealthy investor clients that derive their
income solely from interest, dividends and capital gains. Under thistax law, these clientswill pay only 15%
tax on the majority of theirincome. If they wanted to help the middle classthey could have merely permitted
thefirst $1,000 of dividend income to be excluded from tax. They could do the samefor interest income. By
excluding thefirst $1,000 of dividend income and excluding thefirst $1,000 of interest incomefromtax, they
would encourage savings by the middie class.

Alternative Minimum Tax: Thisis a special tax that was established in 1969 to ensure that wealthy
taxpayerspay their fair share of taxes, without sheltering their income thru tax loop holes. This“ stealth tax”
ismaking itsway down to the middle classtax brackets. It would cost around $300 billion dollarsto fix this
problem over the next 10 years. But instead of fixing the problem by merely raisng the exemption floor to
exclude the middle class, the Republicanswant to eliminateit altogether. Thiswould add $600 billion to our
debt and clearly benefit only the higher income brackets by allowing certain types of income to pay lesstax.

These are just a few examples of the direction that the tax cuts are taking. Other proposed tax cutsinclude
Lifetime Savings Accounts, but not based upon earned income such asan IRA or 401(k) requirements, but
merely on your overall income. Thiswould permit wealthy clients to shelter income that was derived from
passive or unearned income sources (dividends, interest and capital gains). If they wanted to help themiddle
classthey should raisethe IRA and Roth IRA contribution floorsand provide a greater tax credit to assst in
saving for retirement. Studies have shown that afederal tax credit paid now to ayounger worker to enhance
his retirement savings will more than offset the government’ s future Social Security obligation to be paid
later. Thisisbecauseof the theory of time value of money. Simply stated, an incentiveto invest adollar today
could grow to $32 over a 40 year period. This provides that same worker more funds at retirement and
lessens the obligation from Social Security.
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Regressive Taxes: Flat Tax, National Sales Tax and Add-On Taxes

Our tax system, established in 1913, was founded on two principles, 1) that the burden of taxation is
distributed according to the ability to pay - aprogressve tax system and 2) capital and labor carry their fare
share of the tax burden. The Bush Administration is changing these two principlesinto one overall theme,
create a tax system that benefits the wealthier class and shift the resulting tax burden unfairly onto the
middle class. Let’stake alook at a few examples.

Flat Tax: The Republicans have been pushing for a flat tax for years, lead by Steve Forbes of Forbes
Publishing. Unless this flat tax takes into consideration the need to offset those revenues with progressive
income tax brackets, then it will be nothing more than a regressive tax. Thiswould affect the lower income
bracketsthat would otherwise not pay any taxes, or disproportionately shift moreoverall taxesto the middie
class, over the effective tax rates that they should fairly pay.

National Sales Tax: Any discussion of a national salestax clearly benefitsthe wealthier tax brackets. All of
thisisunder the guise of “tax smplification”. To tax consumerson food, clothing and other commoditiesisa
regressive flat tax. Let’sassume that instead of having an income tax, we have a national salestax of 20%.
Thiswould greatly benefit the upper tax bracketsthat are paying at a marginal tax rate of 35%. Thereisno
way that the upper income brackets could consume enough food, clothing and other commodities taxed at
20%, to make up the differencein lost revenuestaxed at 35%. But the middle class and especially the lower
incomes that would not otherwise pay an income tax would then wind up paying much moretotal tax. This
would stifle any hope of saving a portion of their disposable income for retirement or education.

Add-On Tax: Thisis an important issue that requires more public awareness. Given the current Social
Security problem and the inability of this administration to leave the social security surplus alone, workers
may be faced with an “add-on” tax. Thisisan amount in addition to the current FI CA taxes(paid by both the
employee and employer). The current FICA tax, which isaregressvetax, will be accompanied by yet another
regressive tax. Some research has shown that this add-on tax could be 1.9% to 2.5% of the current wage
base. Thisadd-on tax would increasethe existing Social Security surpluses, but would be sold to the public as
anecessity to partially privatize Social Security for younger workers. Every worker should ask the following
guestion, “why do we need to pay more FICA taxes when the program is currently producing substantial
aurpluses’ and “why don’t you roll back your tax cutsor cut spending so that these surpluses can be used for
the purpose as originally designed, to solve Social Security”. Leave Social Security alone.

But George W. Bush can't leavethe Social Security surplusalone, he needsthese surplusesto mask the huge
budget deficits that we have experienced over the last 4 years and which are projected well into the future.
The deficits are going to get worse in the next decade. Thisiswhen the bulk of the baby boomersretire and
the Social Security program can no longer produce surpluses, instead it will go negative by 2018. Once the
Social Security program goes negative, wewill be faced with afinancial crisswithout the ability to correct it.
Any correction at that time will undoubtedly be at the expense of future retirees and the middle class.

Under Presdent Clinton we had achieved On-Budget surpluses, meaning that the Social Security surplus
could be |eft alone. We need to return to that same fiscal discipline and tax policies beforeit istoo late.
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A Moral & Ethical Question

In the discussion thusfar, | think we can establish two principles; 1) atax cut that resultsin deficitsis not a
bona fide tax cut, but rather a“tax loan”, and aswith any loan it will have to be repaid with interest, and 2)
are we adhering to the basic principles of a progressivetax system, or are we unfairly shifting the tax burden
to the middle class. This becomes a fundamental question of our moral and ethical respongbility to future
generations. Let me quote a passage from President Eisenhower’s farewdl | address (January 17, 1961):

Another factor in maintaining balance involves the element of time. As we peer into society's
future, we —you and |, and our government — must avoid the impulse to live only for today,
plundering for, for our own ease and convenience, the precious resources of tomorrow. We
cannot mortgage the material assets of our grandchildren without asking the loss also of their
political and spiritual heritage. We want democracy to survive for all generations to come, not
to become the insolvent phantom of tomorrow.

It ishard to believe that thiswarning was delivered in 1961. But it istrue; we are mortgaging our future by
incurring huge deficitsand increasing the national debt at an exponential rate. Isit right that our leaders have
the arrogance to think that our interests are so important today, that we deprive future leaders and future
generations the resources that they will need to address the problems of their time? We are depriving our
federal government thefinancial ability to undertake needed programs, such asrebuilding our infrastructure,
modernizing our communication systems, finding cures for diseases, fully funding stem-cell research,
investing in renewable alternative energy sources that protect the environment, and so on. The federal
government is able to utilize itslarge economy of scale to achieve great things that no individual, or group,
organization, city, or even a state can accomplish on its own. For example, look at the federal highway
system that President Eisenhower supported. That project could only be possible at the federal leve. If it
were |eft to theindividual states, for example Montana, the federal highway system would not be possible
because thereisnot enough of a population basein Montanato providetheir share of the tax funds needed to
complete the federal highway system. This is why we need a responsible federal government, than can
undertake needed programs that improve the overall quality of life, which create jobsin the process. Thisis
certainly good for business. Everyone benefitsin our society when the “playing field' is elevated.

Thiscountry wasfounded in 1776 and has operated for 228 years now. Our national debt had accumulated to
around $1 trillion dollarswhen Jimmy Carter |€eft officein 1981. Now that national debt has grown to more
than $7 trillion dollars and counting, in less than 25 years. More than one-half of our national debt has been
accrued under two Presidents, President George Bush, Sr. and his son, President George W. Bush. Our
economic outlook is dismal at best and the financial markets reflect that uncertainty today. Now, this
President Bush is seeking to be re-elected, to continue the same tax policies of thelast 4 years. There have
been many political dogans aired during this election year. One dogan that rings out loud and true is that,
“WE CAN NOT AFFORD ANOTHER 4 YEARS OF PRESIDENT GEORGE W. BUSH".

Sincerdy,

William E. Bryant, CPA, CVA



